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OJ00000000000000000000 Specific
Comments Question One This question required candidates to
assess three proposals for a company facing financial difficulties and
discussing the impact of the proposals on the main stakeholders,Part
(1) asked candidates to estimate the return the debt holders and the
shareholders would receive if the company ceased trading and closed
down,Part (ii) asked candidates to estimate the income position and
the value of the company in the event of a financial restructure,Part
(i11) asked candidates to estimate the additional finance required and
the value of the company in the event of a management buy-out,Part
(iv) asked the candidates to discuss the impact of each of these
proposals on the company’ s main stakeholder groups,Corporate
restructuring and reorganisation from which the key elements of this
question were drawn is a key area of the syllabus. Parts (i) and (iv)
were generally done well,with many candidates achieving high marks
for both parts,In the discussion part (iv) a number of marks were
available for discussion of the impact on the stakeholders where it



was not necessary to have access to the answers from parts (ii) and
(ii1),and many answers handled this part well,In part (i),most
candidates looked at the funds available to the debt holders after
redundancy payments,However,a surprising number of candidates
ranked the debt holders and shareholders at the same level for any
residual repayments,which is not correct. Parts (ii) and (iii) were
done less well,In part (ii) many candidates did assess the income
position but could not then translate that into cash flows and
determine an estimate of the value,In part (iii) there was confusion
about how to calculate the additional finance needed and the value
of the company,and many answers could not determine the likely
size of the reduced operation,A sizable minority of candidates did
not attempt parts (i) or (iii) or both atall. O OJ 0 O O
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